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Assume the original function is f(x).
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Part 1: For the given graphs below, provide the following information:

e Identify the given parent function: f(x) = x, f(x) = x2, f(x) = x3, f(x) = b*, f(x) =

Vx, f(x) = |x]
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e Describe using words, the transformation that occurred from the parent function.
e Write the transformation function represented by the given dotted graph.
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Part 2: Describe the transformations occurred from the given functions below.

7. What transformation converts the graph of f(x) = —9(x — 7)? + 9 to g(x) = —9(x — 7)? + 6?

8. What transformation converts the graph of f (x) = —5|x + 2| + 6 to g(x) = —5|x + 10] + 7?
102= B Spawd fo ¥afelt Tz Spale up

9. What transformation converts the graph of f(x) = 3(x)® + 1 into the graph of g(x) = 6(x)* + 1?
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